10254 , SOLUTION , DSSSB (Nursery teacher's)

Ques 1. ANS (D) Solution:

U 3sg Io1¢, o YR &1 7oxyd Wt 8T ST 81 T8 YRd
BT ITY IS AXRA ¢ | I8 3y &7 1797 G I81 ™A &
TUT 97 T F8T TRY IV Hiea~ig Toxd g1 9P HRUr
g HicaR ISl & Ty, TTIT MRV HH | 39 Ho=IA |
Teh HIA oA el urd Sirelt 1

Ques 2. ANS (D) Solution:

ot avg & A o gRadH Bt <R FH RO Fgd 1 T8 Th
giew R B 1 39HT 5.1 AES /A2 g gl

Ques 3. ANS (B) Solution:

ﬁ"'ﬁ?iﬁq (Issue Price)-TR®R gGRT WG 3R IUEd fpa ™
W Pl SR Ged ¥ HH $IAd IR W &1 HHl ard & 7
3R U & TRId dob & o9 faalka favar wmar 8, 5 fefa
T & U B STHT ST g

Ques 4. ANS (A) Solution:

RITOAT 19 fGHRR, 1966 HT TRMATS <= & HMfw [GHra &
GHHRU & o Bt T 2| 59 I BT RIGAT 31 Wl &
1y g2 2| uEie arftfep OIS 2018 & 3IHR 39 68 T ©
5 T 49 Tw 3R ofifthe ¥ § 9UT W 19 T8 e ¢
DT ATad Fter (refidia) & g1

Ques 5. ANS (C) Solution:

HeTdeh T Td) ot et B W vl A B 1 3T ped S
335 foHt B, off ITR-gd @ 3R 98d g3 4t &ib1 & qdf de R
PIFIR B @IS} @ B @) F fret ot B

Ques 6. ANS (C) Solution:

TFRI® W aHTd ST, 2017 B URT 20 AFRIS AT
Y T TP AR BT G &b 1Y S BT ISR et 3l
&aed & fb av 2017 & AR 63 71U 39 i &1 g
I AFRYE 1M Q TRIT AT 1 ARG RITRY GRaT 3R
a1t yeH HRAT G|

Ques 7. ANS (B) Solution:

ORAA Aarefl A &1 & FaTd agedl & Agd | 30 o,
1906 § 1 ST T U HT BT STare farar mar foraw sifaa
YR G o &1 R &1 Tt 3399 gues fAafe dea
DI AN BT, GRAT o1 B T8 TR 1909 5. T ATA- T GurR!
GRI O & 1S | 39 <fiF U Ie= A- (i) e TR &
ufa gRet ot 81 ST (i) TR & Iomfad SfeRT @Y
& A (jii) HIUF & ufd GRAA! & o Idad AT

Ques 8. ANS (C) Solution:

3T Te U AR Thid! ATed B, S 3 Ao B TP
DI TIRT FHRaT B 1 TTBT YB3 WG U Ahred A 16dT
STt § @t 2t | U8 U SNURT & Rl & foran o g, S e
¥ g Bt geTsf B gRITdT 8 | S SrIaa AT HIST ¥ forar
T

Ques 9. ANS (C) Solution:

Ry =1t T Y gSWT J1ga1 b A § ot ST v ], i
3D UYH Y gSWI AHS Rd I Ut g d qUT 34D
RS i@l # ¥ i Riy 7 & fHaR eafka 21 g8
HRAT SUHETET H WUH TWRIG hif~ B SaRIT B <2iat B
Ry T1¢} I & R MR W UG ATl AA GId A TR B
T P TRY 3R HHR T W1 A1 YT TR H Teb 3T
FHER giT T, 3R T8 W H Hu i g 2

Ques 10. ANS (A) Solution:

ST SR HHd SR 1 RSB T ST g,
o Srid SFEeT & SIPR, &A1 R0 3R ITH!

TR qUT 57, G, U 3R 3T T¢ & BRI JHY & 1Y
SRS H e 8, T SHDT S a1 ol B

Ques 11. ANS (D) Solution:

T3y <iarer feaw ufa v 19 FdaR &1 A7 91 ©1 59 fGaw
B BT TG Y HTAHT §RT G 2013 T gaf 471 Y 2021
EaRje WW% (valuing toilets) %I.

World Toilet Day is celebrated every year on 19 November.
This day was started by the United Nations General Assembly
in the year 2013. The theme of the year 2021 is “valuing
toilets”.

Ques 12. ANS (B) Solution:

Y IR Ao BT UH ABI SIS Hal U g1 Ig T
Tq & HiER & A, o SR I & gdeil B Yol & 3 & &4
¥ R Fa STl €1 T8 T (SR AaR) 5 o R @
R Bt § SR S & 3id b JAT B It 8| U2 & g
1 A (R B} Uell) BT SfadR 7T ST &1 9| & 9 UbR
B ¢ fowfd, ot gfegw dum, i ok HetayT day
3nfel

Theyyam is a popular ritual art form of the state of Kerala.
This dance is performed in front of the village temple, groves
and houses as a part of ancestor worship. It begins on the
tenth day of the dance (October/November) and ends by the
end of June. Theyyam is considered to be an incarnation of
Shiva or Shakti (Shiva's wife). The following types of Theyyam
are Vishnumurthy, Sri Mutiyappan Theyyam, Gulikan and
Kuttichathan Theyyam etc.

Ques 13. ANS (C) Solution:

T WRE0T & ol Bod I, UEIGR Wil TaaR a1 Hiee T, guf
HURe, BT ST quT JRITor 31fe Sy Iura 31 AfeT
(3HTe5Te) B et Bt it Y §Te T & forg, et & o ot
el STHIF B Bl Uerdl B IRd ¥ ¢ feaT Sl g

Crop rotation, strip farming, mulching, vermi compost, agro-
forestry and tree plantation etc. are organic measures for soil
conservation. In mulching, the bare ground between plants is
covered with a layer of organic matter to conserve sail
moisture.

Ques 14. ANS (D) Solution:

FHHCH (Ruminants) T JFTTel H3A aTd W YR UL &Id g1 3
T T WHR TGS 30 U I TH WM & I A Hd §
3R fohR STl X I8 U 31U Hg § drh) gerd o fay
FHIHTH B THT 150 ! 1 8 | 7T, T, S, FoRTs,
g, fo=ul, arH, ey ofe el B3 arel U & 1 YIR
SR R aTel Uy e B

Ruminants or ruminants are mammalian animals. After eating
the vegetation, they first soften it in the first bite of their
stomach and then after chewing the cud, they bring it back
to their mouth and chew it. About 150 species of ruminants
are known in the world. Cow, goat, sheep, giraffe, buffalo,
deer, llama, nilgai etc. are ruminant animals. Pig is not a
ruminant animal.




Ques 15. ANS (A) Solution:

TMEoTg! & THY TITe RISl 30 IRATDY IR Ugdi| 39
R T YTRER TRRT 67 Sfie ST auT g do-ies
T IR g3 | RMESTgl A 3TRT & fbdl BT I GR,
QIMESGTIEIG WER o1 RITYHT, feedl # <rer fobetl @ ST #idTE
1 fFHfor quT aHEd BT AT HRamET | RITY &l &
TRADHY P HRUT &1 ATGOTET &b ATIABT DI G BId BT
0l G T oI 5|

Mughal architecture reached its zenith during the time of
Shahjahan. During this period, there was extensive use of
marble stones and the use of pitradura technique. Shahjahan
renovated the Agra Fort, established the city of
Shahjahanabad, built the Red Fort and Jama Masjid in Delhi
and built the Taj Mahal. Due to the culmination of
architectural art, the reign of Shahjahan is called the 'Golden
Age' of the Mughal period.

Ques 16. ANS (C) Solution:

AR 3R 5fIs et b AT U BT IR el Hgd &1 39 At
B TR At 2 BT ST B 1 IR el b HG BT 3BR
YR A RRR T MABR (GBR) AT 31, MNelbR gl B
JaTaH P WG HieR 3 et J S5

The mixed form of Nagar and Dravidian style is called Vesara
style. This style is also called Chalukya style. The shape of
Vesara style temples is circular or semi-circular from base to
peak. The Vaishnav temple of Vrindavan is built in this style.
Ques 17. ANS (A) Solution:

T & T TR TR S 97 Ui R07 1 o @) S 8,
e T b1 Sft Gorrelt GHTel il § S AfYeh IR bl STl
gl

When military authority takes control over the general
administration of justice, then the system of governance that
becomes effective is called military rule.

Ques 18. ANS (A) Solution:

WA BT g 23 9, 1757 Bl WA & HeM H fofewr s e
HO qUT S & a7 RRISEIT & Aed T ATl 39H 3l
T BT A AeIC FA3d B 6T UT| 39 g H HROHR &
fayrTaTd & SR RRIGEIA &1 8R §5 | I8 I HRA § Siiei
¥ fore ue Wfaeiie wifad gon, wifes sma & siis @t
e SR S Hafeadr ®AId g1 TR

The Battle of Plassey took place on June 23, 1757 in the field
of Plassey between the British East India Company and
Nawab of Bengal Siraj-ud-Daula. In this the English army was
led by Robert Clive. In this war, Siraj-ud-Daula was defeated
due to the betrayal of Mir Jafar. This war proved to be a
historic one for the British in India, because the political and
military supremacy of the British was established in Bengal.
Ques 19. ANS (A) Solution:

Bt 2023 B SARBT BT 100 JIU Tl Higarsl &1 gl
SR ®1 TS B 1 YR Hd &1 IR Algarell s Sera, S
T, TR RES 3R e ¥ 7 3@kt B 100 Jo 3R
w-fAftfa nigenst @ 3v ufafd = & g 77 &

Ques 20. ANS (D) Solution:

YRA AERd & AT H A1 BT 9aY $d1 BIgex TRBIS a1
18, 38 A1 & AP U HS I & 0 H 37T o7 38T 6.
G20 RRER T T 8H & TS T 91E o SUD! °UIT0T &Y.
T gs&b T3 (@3R3 3 dERd & T &7 H 39 HiseR

TIRWITS B! 51 36T 8. 59 Hioiae 1 RIaaryg &f H3f oy
g 3 S0y & oo foeT @ fopan. <imn, agre & g & ge

& BIEeR TRWIGE &1 HHTU, YRd & §HaTd! ¢fd & fasw
T U Hewyul Hid &1 TR 8, 571 o2 Bt It Fiureff wR aroet

A U HY ASTgd A & T Thed B! il 8.
India is building the world's highest fighter airfield at Nyoma

in Ladakh, this is being seen as a strong message against
China. This was announced shortly after the G20 summit
ended. Border Roads Organization (BRO) is building this
fighter airfield in Nyoma area of Ladakh. The foundation
stone of this project was laid by Defense Minister Rajnath
Singh from Devak Bridge in Jammu. The construction of the
world's highest fighter airfield at Nyoma, Ladakh, is a
significant milestone in India's infrastructure development,
reflecting the country's determination to strengthen its
strategic presence on its northern borders.

Ques 21. ANS (A) Solution:

Ans. (a) 5 @R,

VB +
=5+7=(12) =144
T 36 +4/64
=6+8=(14)" =196
4 ¥aw,
J21+4225

= 11+15=(26) = 676

7 =674

Ques 22. ANS (A) Solution:

Amns. (a)
a§q‘ .
Tt
feat
s (D) (V)

() (V)

T T 7 f6 TR 13 I S SHET a6 B
Ques 23. ANS (A) Solution:

Ans‘(a)ﬁ'qwmﬁ—
(a) G—23K—* 30—V

(b)) A—2 3F— = 3K 2 ,p

() K—»P—2 ,u—* 537
() T—5Y—=5D—2 5]

3 faFed (a) 39 9 3 2
Ques 24. ANS (B) Solution:




Ans. (b) FAHER G- G T4H T

d: H, R & T §

Ques 25. ANS (C) Solution:

o v R ~gfireTAfea & sravia Ryae! &1 siere g Srar
2, I UPR SRUTHY F Sidiid UgTS] BT e fam s
gl

Just as coins are studied under 'Numismatics’', similarly
mountains are studied under 'Orography'.

Ques 26. ANS (A) Solution:

&0 T TS & T DI UHTTIR HISHR BIc aUT HICaH
I & §1E T8 SWR-3MPla b (a) B Re s 2|

After folding and cutting the given piece of paper as per the

question and opening it, it will appear like answer figure
option (a).

Ques 27. ANS (B) Solution:

¢l 7S *RGdT HT HH- RBI/RBI/RBI 3fd: Rad R & %fie U
Y RBI @ TR 4Rgalm gui g1 St

The order of the given series — RBI/RBI/RBI, hence by placing
RBI sequentially in the blank spaces, the series will be
completed.

Ques 28. ANS (D) Solution:

Ans. (d) 9 ¥R,

F K F B U Q
37 ot (d) T8 2
Ques 29. ANS (C) Solution:

Ans. (¢) 9 ¥R,
SLOWER S FXP
3

.
Lt

L

Ques 30. ANS (B) Solution:

ST AGHI & SHTIR AT TT Fsal BT - (1) School, (4)
Secure, (3) Source, (2) Stress, (5) Sweet 3d: IR HH = 1,
4,3,2,5

The order of the given words according to the English
dictionary — (1) School, (4) Secure, (3) Source, (2) Stress, (5)
Sweet, hence the arranged order = 1,4, 3,2, 5

Ques 31. ANS (D) Solution:

Ans. (d) :

16 14 18
58 44 7
13 8 4
(16 +13)x2 (14+8)x2 (18+4)x2
=58 =44 =44
st =44
Ques 32. ANS (B) Solution:
Ans. (b) :

@ AT~ @m A

BOTTLES ARE [WHITE] — HN TP

BOTTLESA BROKEN —> HN SNG

Ques 33. ANS (A) Solution:

1. Priceless 2. Pristine 3. Prison 4. Priority 5. Prejudice Sl
PIEEAR] & SR hH- 5. Prejudice, 1. Priceless, 4. Priority, 3.
Prison, 2. Pristine shH=5, 1, 4, 3, 2

1. Priceless 2. Pristine 3. Prison 4. Priority 5. Prejudice Order

according to English dictionary — 5. Prejudice, 1. Priceless, 4.
Priority, 3. Prison, 2. Pristine Order = 5, 1, 4, 3, 2
Ques 34. ANS (D) Solution:




Ans. (d) :

SHOPPAN MA990H2

Q
oz T damm @ w9 200 sHEE TEer (d)
Ques 35. ANS (A) Solution:
Ans. (a) : FGH aen § gvqaes OE (2) § WH ®
fades (a) &M @@ FW 1 sTE 90° aRwmad T
W T T A T FEA 90° AET 9N W %

(]

~

Ques 36. ANS (B) Solution:
Ans. (b) :

& T q¥9 SE IW FFA & G (b) 7 R Bl
Ques 37. ANS (C) Solution:
QRTJC/QRTJC/QRTJC/QRTJC 3Md: 'RCTQIRI adl
&1 guf St
QRTJC /QRTJC/ QRTJC/QRTJC hence 'RCTQJRJ' will complete
the series.
Ques 38. ANS (A) Solution:
Anms. () : 10, 11,19, 46, 110, ?

10 11 19 46 110[235]

S 1
Ques 39. ANS (C) Solution:

Ans. () : AD, EH, 2, MP
+4 +4

A >E > >M
D +4}H +4}L +4 P
AT =11
Ques 40. ANS (B) Solution:
Ans. (b) : HHT T = x
qhadl @9 = (x - 1)
HEAHER,

3(x-1)+x _

5
3Xx-3+x=065

4x = 68

x=17
T =17

Ques 41. ANS (A) Solution:

13

A § TR W T = 1,20,0000
FiAem gfe T =4%

2
) a a8 A - 1200000(1+i}
100

1200000 28 20

25 25
~ 1200000x 676
- 625
= 1297920

Ques 42. ANS (B) Solution:
f@e 1 %7 g7 (C.P) = 280

faem 1 o3 g7 (S.P) = 315

P @ (p) = faA T (SP) - FF 7 (CP)

P=315-280 =" 35

[V - P
o P% = axl{]o
35
280
_5x100 50
40 4
=12.5%
Ques 43. ANS (C) Solution:
TR o = " 80
5% 1 & FHANE T A W

-5 -5
fersha geg = E:%Oxml0 x 200

x100

00 100
95 95
= K—X—
100 100
:72200{]:‘72.20
10000
Ques 44. ANS (C) Solution:
a 32 .
T T eeneean (1)
b 35
b 21 ..
— = .. 11
c 32 (i)
0 (1) 7 (ii) -
a b 32 21
Bl e Y Qi
b ¢ 35 32
a 3
c 5

Ques 45. ANS (B) Solution:




A, B @91 C & @l &l 3791
= 12,000 X 24 : 6,000 X 24 : 15,000 x (24-8)
=12x24:6x24:15x 16

=6:3:5
. 5
Hd: A H C FH 9FT = —————x 33,600
6+3+5
:i><33,600
14
="12,000

Ques 46. ANS (B) Solution:

?rmq?ra?rlﬁ?rmrfmzét—ls T

HE & 1 & & W :%'HT'T

A 1 x &7 7 wen
FEAER-
¥ x-33
-+ =

45
45x+72x-2376 1

1

3240
117x=3240 + 2376
5616
X=—=

117
=48 f&q

Ques 47. ANS (A) Solution:

48

. 4
frgur 29 3 WE = zoxflsa‘r.

frsur 7 ol # WE = 20 -16 =4 .
fogmr @ 5 o, e faae & 98 fow 0 g9 9 Oe @
HT = 16:(4+5)
=16:9
77 figur 1 29 & sfqee-

16
—x100 =16 © 4=64%
25

4

Ques 48. ANS (B) Solution:
W B TOI0E & WA =x+SEH
T A ST & 9 = X 5 T
‘\j
1 1 1
—_t— =—
X X+5 6
x+5+x 1

X*+5x 6
12x +30=x%+5x
x*-7x-30=0
x?-10x+3x-30=0
(x-10) (x+3)=0
x =10]
3T 9 916 T2 A FR e 10 52 H R SWEm|
Ques 49. ANS (B) Solution:

PxRx6

SI, 100
S1, PxRx10

100

=

S, 6 3
5

S, 10

SI:SL=3:5
Ques 50. ANS (B) Solution:
feam &-
P=2?r=4%, s =338, t=2 ¥
TTATTER-

L
fsem = Pl 1+ —
100
338=p|1.
100

338 = P{E]
25

p_ 211250
676
P="3125

Ques 51. ANS (C) Solution:

AT 9% a= @ A = x99

T Bi¢ T8 W AG = y 74
I,

x+y=33 —==Ai)

x—-y=3 —-[i1)
THL () W () F

x+y=33

x-y=3

2x =136

x=18
FE SE I= @ FE = 18 =9

Ques 52. ANS (C) Solution:

H HEA x, y, z 3
FYATER-
- I+f'+z=.,, -—--(l)
J
+y
= x’—"=5 i)
> i i
— T G) I @) B
= z=21-10=11,z=11
=  z 91 R T (@) § @ T
=  y=16-11=5y=5
=  yWEE . G) ¥ @R T
= x=10-5=5,x=5

37 HEw 5, 5 3k 118)




Ques 53. ANS (C) Solution:
ST oTerrs e = x kmhr

zft =96 km

7t wTer = (x-4) kanhr
TYAAN

9% 96 .
-4 x

48 48 _
-4 x

ri
FERE

48i/x -X +4J=1
\x(x-4)
8x4=x(x4)
¥-4x-192=0
-16x+12x-192=0
3(x-16) + 12 (x-16)=0
(x+12) (3z19)=0
M x-16=0
x=16 x #-12
arentrs wre = 16 kvhr
Ques 54. ANS (B) Solution:
FEEER,
et &t 1 = 70 km/hr
U E TR athi=

60 fz % tomet oo weh 7 2f =70 km

| Rz d =0
60
T0x2
24 Pz #§ = 0%24
60
s gt = 28 Rrft

Ques 55. ANS (A) Solution:
A A @1 9 x kmvhe TF O W 9 y

km/hr 21
At RmE s i e = (x+y)=15kmh
T A = (v)=2.5 kmh

x+y=15

x+25=15

x=125kmh
Tt A R A IS =x-y=125-25=10kmh

Ques 56. ANS (B) Solution:

A D C
e Bv o FEE () = —,‘Ea
[¥8 AD =h=15 cm]

L
Wi <

a* =300
=%x300 =75 o’
Ques 57. ANS (D) Solution:
& T wR gt fee &
V2,342,542, 72 ..

el 08 =Ty ="
I U2 (a)=+2, AR (d)=242
11=10('3I3T6|$I7\11§L‘TD
el =T, =v2+(10-1)242
[T, =a+(n-1)d]
T, =~2+9x242
T, =~2+18\2

T, =192

Ques 58. ANS (C) Solution:
3 ST ¥ W B fb N paet Bgell § A STHGR 1 H-Ia
:lﬁ% =C- (Vv+s+t)

It is clear from the Venn diagram that one who is only

hardworking but not honest or efficient = ¢ - (v+s+t)
Ques 59. ANS (C) Solution:

gfe Sectd — Sec26 =3
Seclf}[SecJB—l_]z 3 [ sec?6—tan?0 = 1]
(tan’®+1)tan’ 6 =3
tan“8+tan’ B=3
- |tan‘* B+tan’ 6= 3|
Ques 60. ANS (D) Solution:




3 [ ARk, ) T1B (%o, v2) F A
T T H m C mg & FI A ATE W 4
IS L A1 137 P (x, y) & [ 2-

x = % +m,X, v= Y2 tm,y,

m, +m, ’ m, +m,
x=4v1=m=2
n=Typ=1m=1
C2xT+1x4 2x11+1x5

241 ° 0T 241

14+4 22+5
X= , }":

x=6 y=9

- 7 13 (6,9) T

Ques 61. ANS (B) Solution: &€ T TeriwT & Hahfads Rad wiH
¥ e Ted IWYH Ve UMY & | 3c: gof a1a g -
"3 TIR & T, 3 It gal I g | 31t fasweg
(B) WRI &1

Ques 62. ANS (A) Solution: faT T TeriRr & Hobfds Rad

M ¥ T a8 IUged Weg  GHIY B 1 31ck: IUf a1a BT -

TAH = I THTYM & fTT Ty R 8T 71 31iq fabed (a)
BEE

Ques 63. ANS (B) Solution: 3T 71U 2[eg ""SHTHRUT ST aTal”
¥ foTe aTeIe 1 U Xeg ST “JATHROT | 3k $F A &
forT Tep wsg g - Trspurolt - R g1U § Ak B 1 ITTHRT -
STHRUT S gt | Fomaror - dion § e g1y o 98 Tl
Uf$d - 98 ot faen a1 <Ial &1 9ga Sres1 A 81|

Ques 64. ANS (A) Solution: 3T T fased A T&t ad-t aral
g, 3T BT 31 AW A A (b, ¢, d) T Usa
A 8 | Y Ueg G Ve THTRT - THTRT TR - 31T FeTs -
TCTS TIYRYT - YR ST} - ST 3gedT - 3ifged sgare
- TG ST - T8

Ques 65. ANS (A) Solution: faT 7T faswau ¥ dfiF-akg g
1 GETaRT Aferd 7181 8, siufd SiR fawed b, ¢, d A fawed
BT GeTaRT AR 81 31d: fadhed (a) &1 GeTarT * F aRg g
1 31 BT faeR ford= o= a1 faraR ST

Ques 66. ANS (C) Solution: 3T T aTe # Y@ifdhd WS &I
YfaRTd S & foTT e Iugad RMeg “u1d Fo & “ §1 37d:
qui q1ed g - 312t 1 Soi B Ui fie aret g

Ques 67. ANS (C) Solution: ﬁ'q‘TQa'lTﬂ - ﬂ%’ UHh ST ol
HETART BT - “&e A &1 | HIe— YeTaRT Held: ‘3Ral HINT ]
eg & forgeT 31 § S1deiid 31 91 IR <11 id Pig e
3 A 31 ) B fobat faRy orf & ¢ gl o g, o
T HeTaRT Hed 8| ed YeTarT foid 81T - XffaT g
UGN AT - 3TET HAT| ST 7 T - Hg YTl

Ques 68. ANS (C) Solution: %QITEW‘}[ AT g BT
Fa wreg ifery §NI 3rd: B gHMT weg Y - Wee,
- TTTf Rreg SR - BIFER, SifAva, SUHRY,
fRABRY| Y - )1, 3w, Y, HTqADBR, SFT | 3raw -
JeareH, Tafen, afawy, sifaar, sifaswd

Ques 69. ANS (B) Solution: %qwamﬁﬁaawmﬁqﬁ
2 "IUIR" Weq BT YANT IUYE § | 3fct: Jof arers g — 1T
A R IR IGHT IUER T S 21

Ques 70. ANS (C) Solution: T 7T a1 # Ywiferd Usg B1
YfaRid A & oIt gad Iugad ¥es - “gis W @it g1”
BN 31ct: Ol aTo 81T - G & U §rs &t &l g

Ques 71. ANS (C) Solution:

fau T g § ude Ul &Y SR BT TR -39 are
T Pis Ffe TG 8| 3fct: TG T Ui g | 3fct: guf a1 - U
gToft &Y TR BT =Ryl

Ques 72. ANS (D) Solution:

U TTU Teq 31e5T-qRT ! Uh JHFAT” HeTaRT T 342 ghm-
Y Y ST G T | 31ct: AU TN faheu & a1
TeTaRT Y 8- HRTRT - TaH! Th T3 I i1 - Toft & uh
ST AR HGER H1| & Y T189 TR T - Jah! T
A THIHR FIGR BT | AT BT TR T - [
BHT1 Note— HTaRT Heid: 3Rl HIST &1 Wed ¢ forger 3rf §
ST BT

Ques 73. ANS (B) Solution:

fou TTu oo & g act aran Weg g¥a” 81 3 3 fased
F Vg R It gl

Ques 74. ANS (C) Solution:

fau Tu it fae fad WM &t g & foe T Iuged e -
"3 BRI 3ct: Yuf a1e §ITT- 3 3 IR @ I ¢ |
Ques 75. ANS (A) Solution:

U 7T wreg welt-anfas ST HeTar @ 3 - ufdaar
B | 3fct: i3 MU fashey A wsdl & GeTarT 9 B 1 Tgarel g
- IR € BT g1l § 3l @Res) T §ieMT - gHTasRY
ARV IUF FRAT| TGAYT FRAT - Tgd BIS BT HRAT HH
I9 H 1 NOTE - HeTaRT Heid: 3Rel} HTNT &7 W ¢ forgept 3 &
ST BT

Ques 76. ANS (C) Solution:

g 7T 21eg — Rz b1 AT e et} BT 31 R Rt
b TETT Tree; A B g TET Weq IR IR, weTgR, A,
IRAR, et WRIHHT — TRishHarar, gEur, IR, vardt
qHdaR, dTgad, Ryaae, 1yl | @l - Rad, Sdr, @raa,
3R, R 3ed, fad, Bk, R Fard | dR - Fg=R, Iom,
e, T, ¥ed, Bid, UToraeay |

Ques 77. ANS (D) Solution:

U 7T Wsg — B A B TUS” P T IR T U g, BRI
goITE” | 3. 3T U ey & Weal BT a1ediw fH B 1 Us We
RIS QR — oy it & O, Ty 811 ofiR — 3ot faafyar
Uedl & S (GF) WRFT - Hd D 3ol JUITA - HHA D GUST
Ques 78. ANS (B) Solution:

fau 7T Rad R 1 gfd & e Ted Sugad g arRdeH
&1 31t ol aTeRT SNTI- “GTRI0T T H1TTeh TIGR ARl BT
3G T &1

Ques 79. ANS (A) Solution:

feu T fadhed & Wea! H Y Il aTell g "ATGHIID W
& T B 1 31t Y Reg S a1 P g | 31
ARG g Y& It 5

Ques 80. ANS (D) Solution:

fau TN Teg A Y S ) S S I e 1 Th
TTeg TSP BT | 37 fAT 7T fashed & ea] &1 arariie
¥ f1T U W A B- Uo Wea ATt S BT - fawa
A ! St | Igedi - o/ 9gd 3 <ar 8| Hifee - Py
D dTell Wil | Ay Uid¥d — for ufiagT o &1 81

Ques 81. ANS (C) Solution: JURIaT Passage W%\}W
& RIF (1) H land &7 YA I0gad BT 3= fadhed! & 3ref




i g Aquatic - e Arboreal — q4- et Aerial - STHRT
correct sentence— The elephant is earth's largest land animal
Ques 82. ANS (D) Solution: JURIaT Passage HId & SR
e ®IM (2) A Fond (TR) ST WRT UG gHTT | AT Fond &
Hlprepesition 'of' BT YT Bl g | 3 fashed firsr 3ref 3a B
Surprised — 3T Tfdrd Afraid — a1 Proud - T

Ques 83. ANS (C) Solution: JURIdd AT & Rad RIM F right
(SHTIBR) BT FANT Iugerd BN Hlcb T b HId &b TR
Iugad 31 a1 B 1 3 e i 31ef T B Kindnes -
ATl thought - f3aR virtue — 01

Ques 84. ANS (A) Solution: JTRIad group of words' A
geometrical figure with six sides’ & foTT one word faded
Hexagon (VYY) G'Clﬂaﬂfﬁ"'ﬂ 3 fadwed & o Heptagon -
HIAHIUIH Pentagon — GAHIU Octagon — HTYS

Ques 85. ANS (B) Solution: JURIS AT H the later (STc H)
& I ¥ the latter (S1¢ aTaT) & YN I9Gad g Rifds d1ad
FUT D SR SUgdd 31 AT 81 correct sentence — Of the
two politicians turmp and Obama the latter is more
impressive as an orator.

Ques 86. ANS (C) Solution: JURIE a1 H wide and shading
& ™I W wide and shaded HT TIRT T Fiifds a1 Passive

o 39fT verb shading P WM W shaded (V) BT YA gIdT 3

correct sentence— The road was wide and shaded by rows of
tall trees.

Ques 87. ANS (A) Solution: JURIe dTed o Rerd R H
called ST YT BRT &1 called for CEIED! Y & AR
Sugad Hﬁéﬁ%l 3 fawey fie B{Qféﬁal correct sentence
— Students will be called for an interview on the basis of their
score card.

Ques 88. ANS (B) Solution: IURIa fddedl H § fddbey
Equipement CAR:GRIl 3R B o ELSCA| %aﬁ Equipment
QUERN) gt 3 fadhed &1 ad-t Y 81 Refusal — ABR
Starvation — H@ﬂﬁ Baggage — HHH

Ques 89. ANS (A) Solution: JIWIed a1 H the tallest girl &
R W the tallest girls WW"TB‘Q’Q&H BRI &AM one of
thed &G Noun Plural form ® TR Eﬁ?ﬂ%l Correct Sentence-
She is one of the tallest girls in the school.

Ques 90. ANS (C) Solution: SURI AT & HTG & AR
e R T Retain (@1 IG1) BT TR UGS GRTT | 3T
fawed i o1 S §1 Maintains — BTIH TG controls —
AT includes — RMA

Ques 91. ANS (C) Solution: Opinion — (FTd) Synonym, Idea
~ (1) 3= fasedl & 37 Fact — 9 Truth — 9 Proof - H1&d
Ques 92. ANS (A) Solution: SWRIE fddbedl H ¥ fdhed (a)
Frawdster &1 a1 3R[x  3rd: ST g],aaﬂ:ﬁ fraudster
(&G <t A aTe) BT 3 faehed Y o Y B
Gangster — dGHIRT Prankster — TRRT Trickster — DTSS!
Ques 93. ANS (A) Solution: I dTRT P @ifbd overflew
is banks & R W overflowed its banks WWB‘W@W
HIfP flooded & TN A WY 7 fob a1y partffsﬂﬁl'q
overflowed T BRI Correct Sentence— The river overflowed
its banks and flooded the village.

Ques 94. ANS (C) Solution: SIS a1 & I@ifbd HIT out
of the minds & I 0 out of their minds YN IUGd BRI
Fifh Some people & SR pronoun their BT TART I

Correct Sentence— Some people can only cope with
problems by shutting them out of their minds.

Ques 95. ANS (D) Solution: JIWIEd Idiom' A fine state of
affairs' (ﬁqﬂqﬁ@lﬁ) %m%fqﬁm (d)An unpleasant
situation ST IR HRaT & | 3 fasmed i o 2 B
Ques 96. ANS (A) Solution: Hindrance — (d18T) Antonym,
advantage (®HIQ) 3 faeedl & 31 - Deterrent — B?h?\“l'l%’
P aTdT Barrier — 31aR1Y Handicap — S{OFTal

Ques 97. ANS (D) Solution: IR group of words'
Something that is quickly and easily set on fire and burned'
%ﬁ‘lﬂ one word fd®ed (d) Inflammable (ﬁ?l'-‘?ﬂ?l) SUYdd
BT 3= fasedl & 31 Scorched — T §3HT Charred — STalT
©31T Blackened — Tl

Ques 98. ANS (A) Solution:

IR a1 H are quite easier F AR is quite easy Pl
AT I9gad 81T | &ifdb This & IR verb singular (is) 3T JART
BT"IT T quite (Adverb) > e Adjective ( easy) PT TN %ﬁTH
Note- Easier comparative degree § 31d: 3BT TNT & aﬁx”ﬁ
& compare %ﬁﬂﬂ%@?ﬂ% |

Ques 99. ANS (C) Solution: Venture — (Gﬁ'@'q 3o
Synonym, attempt— (UdT¥) 3 o & o1 protect — X&T
BT Neglect — 3U&T Guard — X&d

Ques 100. ANS (D) Solution: IWRIad group of words' te
practice of persuading someone to do something % foIT one
word fd&ea (d) coercion (\_rlm 3 faweat & aref Cruelty
- g Roughness — SRy Compulsion — fqazmar

Ques 101. ANS (A) Solution:

Ques 102. ANS (B) Solution:

Ques 103. ANS (B) Solution:

Ques 104. ANS (B) Solution:

Ques 105. ANS (B) Solution:

Ques 106. ANS (A) Solution:

Ques 107. ANS (C) Solution:

Ques 108. ANS (C) Solution:

Ques 109. ANS (C) Solution:

Ques 110. ANS (D) Solution:

Ques 111. ANS (A) Solution:

Ques 112. ANS (C) Solution:

Ques 113. ANS (C) Solution:

Ques 114. ANS (B) Solution:

Ques 115. ANS (B) Solution:

Ques 116. ANS (A) Solution:

Ques 117. ANS (B) Solution:

Ques 118. ANS (D) Solution:

Ques 119. ANS (D) Solution:

Ques 120. ANS (B) Solution:

Ques 121. ANS (A) Solution:

The theory has been used to explain mental processes as
they are influenced by both intrinsic and extrinsic factors,
which eventually bring about learning in an individual.
Cogpnitive Learning Theory implies that the different
processes concerning learning can be explained by analysing,
the mental processes first. From this theory we can say that
he was teaching by cognition theory.

frgid &1 ST ARy ufharsil &) gasm & fag fear man
T TP 9 3RS R IE< GHI BRI 4 THIfad 81 &, SNt




3idd: Ue fad & Wham & IR & a1 81 G g
Rigid &1 ard & 6 diem O wefea fafte ufssanstt &1 usq,
AFRID Tfharstt $1 faReivu SR THSAT S 96l § | 39
AR R A R A LR 6 U (R AR EANA RN
Ques 122. ANS (C) Solution:

Teaching aids are an integral component in any classroom.
The benefits of teaching aids include helping learners
improve leading comprehension skills, illustrating or
reinforcing a skill or concept, differentiating instruction and
relieving anxiety or boredom by presenting information in a
new and exciting way.

g T amdl et +f e & T offtre ot § 1 Rieror
T gl 3 el 7 =nfier § Reia 3 ue 7 ar
AuiFS TP F THBRT U b &7 AT AR B
FURA, DI AT SAYRON B TTgd B, IS BT ST A
3R a1 a1 39 Bl R B H Rrenfifat &) veg HRAm

Ques 123. ANS (C) Solution:

Objective tests are usually those which come with a definite
set of a anwer to the questions posed in the exams. These
are like exams where there is a question and there is a
definite answer to the question. There may be multiple
choices to choose from or not, depending on the format.
TS TRIEI0T SMHAR TR 9 B1d &, off OR1e § g T sl &
TR F T de & Ty o 81 3 wen ) R § o6 U Uy
BT & 3R UY F1 U (T SR SI1 5| UREU & SMTUR W
I AT G & o 3% e 81 9avd &

Ques 124. ANS (C) Solution:

By using various aids of instruction, the teacher can clearly
talk and teach to the students. STudent will also clearly
understand that what type of teaching they will get from the
teacher.

IR & fafts TS &1 IudiT avs, e Wy w0 I o
1A R Fhd ¢ 3R R gebd &1 fadep! i ey w0 3 Jwgi
o 38 Rieid A fobd YR 1 Riefor fiyeiwm

Ques 125. ANS (A) Solution:

Motivation is a critical component of learning. Motivation is
important in getting students to engage in academic
activities. It is also important in determining how much
students will learn from the activities they perform. Students
who are motivated to learn something use higher cognitive
processes in learning about it.

TR HRaA &1 U Tgdqul Ued g | B! &I feras mfafafiat
B W A & foe IR Aeayuf 81 a8 Fuifd & 7 ot
Teaqul & fob T 30 gRT Bl M areft Tfafaferat & fpan
| S o T2 e F o IRa B1d § 3 suh IR A
T § I ST fsharslt T SuanT $d § |

Ques 126. ANS (A) Solution:

A variety of teaching strategies, such as physical activities ,
individual learning times, group interaction, artistic variations
and musical interpretations to help orchestrate student
experiences. The mind's natural curiosity can be engaged by
complex and meaningful challenges.

faftre geR 1 Rieror o, SR b =i wifafafi,
T YR BT JHY, TG T MR, HaTdd fafaeant sk
BE & IHAI DI Aeg B & forg Tifid saread | 74 &t
Iy R sifee 3R Trefes gl @ 92t 81 gl 31

Ques 127. ANS (A) Solution:

Everyone likes getting rewards, and offering the students a
chance to earn an excellent source of motivation. Things like
pizza parties, watching movies or even something as simple
as a sticker on a paper can make students work harder and
really aim to achieve.

W PIs DR YT AT GHG IRl 5, 3R ST B UROT BT
T IpY Gid 3AMId B BT HiebT Sl g | et e, et
ST 1 95T I b Th BT R e & 0 H WA $B
ol BT B Bo! Hed P Fbdl & SR IRad H A& gt
FATT

Ques 128. ANS (B) Solution:

Proper reading of map needs ability to understand relative
positions of places, distance and direction.

AHRE & IR Uo7 I R, g2 3R o= & wmer uat &
T P & BT ST Bt 3|

Ques 129. ANS (C) Solution:

Before teaching and preaching social value to students,

teacher is expected to practice himself to behave well and
ideally in class. An unbecoming behaviour on the part of
teacher is unlikely to envoke inculcation of social value
among the students.

B &Y ARG Fed KM 3R TaR &4 § ugd, e 3
TG SUET BT S & S I e H 3sT SR 3Mexf aeR Hed
& forT ga &1 31y B | R 1 SR W T SRNHA
HagR BHI & did AHEIS G B gl B GHIGT g1 5|
Ques 130. ANS (D) Solution:

According to Benjamin Bloom, human development is
divided into psychological, cognitive, emotional and physical
domain.

YN SH & SR, A4 f[AHT T, SIS,
G 3R Hifde S & fauiford 3

Ques 131. ANS (B) Solution:

When a child with a disability first comes to school, the
teacher should rafer the child to special school according to
his disability.

STe fIa T aTel ST Ug e IR pd H STl 5, df fRIa® &l
U fAH AT & SIHR o= & [a-IY o & Vo1 7rfgul
Ques 132. ANS (D) Solution:

Picturesque books , story telling method and teaching
method to suit disability are some of suitable ways to deal
with at primary level.

faeeiter & fuet & forg Grra gaeh, et e 31 fafy ik
fRreror fafty ufiie TR R AU & $o Sugad s 81
Ques 133. ANS (D) Solution:

Patience and perserverance are the most important qualities
of a teacher at primary level.

& IR Tear Urufie TR W Ue g & Ja Agayul o1 g1
Ques 134. ANS (A) Solution:

The greatest important cause of failure in the beginning of a
teacher lies in the area of inter - personal relationship.

T R &1 YB3 U [Tmadr &1 gy 981 HRUT 3R -
HfeRAT Teief & & & B

Ques 135. ANS (B) Solution: verbal guidance is most
effective in teaching concepts and facts. e arfes
YRS 3R ) Bl UgH H a8 THTE! B




Ques 136. ANS (A) Solution:

Many groups of students can be paired easily. Teacher can
easily teach students without any confusion.

BT b B GHE! B AGF A ST o Wbl ¢ Riare famn
ot yH & BE BT T A UGt b B

Ques 137. ANS (D) Solution:

Piaget developed a stage theory of intellectual development
that included four distinct stages, which are as follow : The
sensor motor stage, from birth to age 2. The pre -
operational stage , from age 2 to about age 7 The concrete
operational stage, from age 7 to 11.

fogrie 4 fs® A o1t R Rigid fawRd faar, forad
TR TS TROT A &, 5 37 TPR §: IR HIe R,
THY 2 U a2 T F ABR 7 TN B 39 dP BT Yd-IdTa
TRT, B TR SaRAT, g 7 H 111

Ques 138. ANS (D) Solution:

Educational psychology is that branch of psychology in which
the findings of psychology are applied in the field of
education. It is the scientific study of human behaviour in
educational setting. So, a teacher can make attempt by this
psychology to know the potential of the student.

Qi HATITH, AAGTH Bt 9 Wl ¢ forad Riafn & &= 7
T & et &1 @ fasan ST 81 T Qe Jf o
HE HAER BT IFMHeb ST & | i, Ueb [R1aieh 3 Afa
SR BH BT & P S BT T HR Gl 5

Ques 139. ANS (B) Solution:

Development is a continuous process, throughout life. It
represents change is an organism from its origin to its death,
but more particular the progressive changes which take place
from origin to maturity. Development is a product of
maturity and learning.

e R fIpTa U ¥ad Ufshal §1 g URacd &1 uiiAia
HAT 2 TP S1d 30 Jef § 301 G dop, Afp1 3ifirep fagi
FY Y JIfcrRie uRac off Idii 9 URYSdl a gid § | [aem™
TRUSAT IR HRe &1 T IUE & |

Ques 140. ANS (A) Solution:

By enabling activities with a focus on conversation skills
leading to communication competence, will help students to
develop speaking skills. They will get more confidence to
speak in the language classroom.

AR G&idl & forg ol STeeid HIRIE W &M Hisd I &
1Y AT BT Gam PR ° BEI B Sla Bl DI (b RId
FX T Hag el | 3 W &l H siad & e sifie
STy feT|

Ques 141. ANS (B) Solution:

The best way to teach on water pollution is to show a
documentary on water pollution in the class.

A UGHU TR RaH &1 9a 31 il © o Fam & o
TGN IR TS Jifer feamar s

Ques 142. ANS (A) Solution:

Best learning is possible where every child is having enough
opportunities to explore and develop oneself.

JA e TuT 8, el 8- I Bl WG BT IARM AR fawmid
P & forw vafd 3rawR g
Ques 143. ANS (C) Solution:

When students start transferring knowledge from one thing
to other and using of learning experience in different
situation. It reflects meaningful learning is taking place in
class.

Sd B IM DI T Il A GO Al H RIFIIRT BT L=
I & IR e aRfRufad! & WRas & SrgHa &1 ST
21 g8 gufar @ i arfe e wan A @1 @ 21

Ques 144. ANS (D) Solution:

Education programme of being appropriate and effective
must be based on the requirement, interest and ability of the
child.

Ifad SR YHTE B 1 R8T SRIHH S ST SHTa=IDh I, T
3R & TR SR g1 afey |

Ques 145. ANS (D) Solution:

According to Benjamin Bloom, human development is
divided into psychological, cognitive, emotional and physical
domain.

YN H & IR, AHG ST T, SIS,
YIS 3R s S & fauiierd 3

Ques 146. ANS (C) Solution:

Effective teaching involves a teacher's ability to make
students learn and understand the things easily.

THTE RIeron & B BT S 9 Sl B Ui SR THeH S
18/ P amar A et 31

Ques 147. ANS (C) Solution:

A teacher asks the questions in the class to check and attract
student's attention.

T R1eid Fe&f H S & & B Sia 3R SR B F
fore Uy ggar g1

Ques 148. ANS (C) Solution:

Post - active stage is actual classroom teaching stage.

URC - Gichg oRU1 ARAda BT RI&0T TR0 g1

Ques 149. ANS (D) Solution:

Action heads are dramatics, field trips and programme
instruction etc.

TR B8 e Igdl, Bics fou iR Wi gxeawr o gl
Ques 150. ANS (B) Solution:

charts , diagram , picture and posters are examples of display
boards.

T7e, R, T SR UReR et 91 & IareRur B

Ques 151. ANS (A) Solution:

I 9% M & S SAaER SR AR ufshansit &1 sfeqa
FIAT 5

Fife I8 ufghanell & SR W §dTdT 8, I8 SNy e &1 i
et g2 g

g ATGRTT fafvierar &1 SufRfd & IR o Jara g off ot
e & ST B YHIfad Bl & i e gR Al
T Th HIT & S & Tl TAAER bl I el g

It is the science that studies behavior and mental processes.
Since it tells about the processes, it is an essential
component of modern education.

It tells about the presence of individual differences that
influences the learning of an individual since learning
influences behavior that forms a part of our personality.
Ques 152. ANS (D) Solution:




Iudad fRURY  HleaR-PHaaR 7Tad T g1 PR &b A=
S{FENTH & T H sfar/fRiuioh 2nfie 3

BHlgerR B AT 3icef Rigia: 78 9ardl & o oa @15 safed
o T 1 81 g @, & foreht T &1 e SidEy &
FAD Y 3D ' 3 ATl 5

I5i il B T g HAR | @1 oI5l HIeH B I9D! Ugd
Y g T T T, 3R I, ! okt Aot agt SISt meft o
oSt HISH I g & ol HHR & 3ex gl Igdl Tl

I8 TP TR W IS G151 A § 3R TSI BT ST Heb
YIS P10 FT A P! IR PIAT 5|

7 @ fan ST =1feT fob 78 wae SR e b1 gRRoms =gt o,
TSl ol 3ETe T 3R Tt BT IUTNT B BT R 37T
Tl

3 UPR, I8 by Feberd § fb PleeR-SER T Tad gH
gl

In the above-mentioned situation, Kohler- Pigeon is the
wrong pair. Monkey/Chimpanzee was involved in Kohler's
experiment of Insightful Learning.

Kohler's Insightful Theory of Learning: It says that the
solution to a problem arrives ‘all of a sudden’ flash of insight
when a person is struggling.

For this, Kohler demonstrated the following experiment:

He kept chimpanzees in a closed room where food was kept
out of their reach, and items like boxes, and the stick was
there.

The chimpanzee would roam inside the room to reach the
food.

They would ‘suddenly’ stand on a box and use the stick to
bring food close to them.

It should be noted that it was not the result of trial and error
instead, the chimpanzee suddenly came up with the idea to
use boxes and stick.

Thus, it is concluded that Kohler - Pigeon is a wrong pair.
Ques 153. ANS (C) Solution:

MRS WiohaTaTd SaRT: (12-18 Years)

T TR W, IS T YRS & IR H ferwd= Bt eman
BRI e B

TG ST H, TTeH TR0 3R Ffe F Sreral HTedfidh-
RIS Td BT TN I THWNSH DI g HR TP g |
fRraTet &1 T T 5 Sfioes TfhaTeTds Sfawi1 & GRIA
et ad Heayul 8 ST § SR e fawy ufvomy &
FYiRd A & e v g Risid &1 SUART B3 BT &
B AT BIll & | 3 UBR & foia & STeufas Rufoat
e gt & ST wra: fagm iR i & suet saxaear gidt
gl

Formal Operational Stage: (12-18 Years)

At this stage, the child develops the ability to think about
abstract concepts.

At this stage, children can solve problems using
hypothetico-deductive reasoning rather than trial and
error.

Piaget believed that deductive logic becomes important
during the formal operational stage and requires the ability
to use a general principle to determine a particular

consequence. This type of thinking involves hypothetical
situations and is often required in science and mathematics.
Ques 154. ANS (B) Solution:

3HTH-SFRSH TG

d HIGHTY o a8 Bt HIa=T o 1y-ary bt & Sl i
TAId B3 B &Hd1 B SIS Bl &, SHTH-SNRED
HTaT HEan &

J WIS 39 1 BT IR § & Fmfie Amds! ok Famt
1 30 I Bl & 1 7|

e, sroRTyay, S, T SR SUAM SE-JRRES
TGS & IETERI & |

S-SR HIGHTY I T & GRUTFEGEY S 8l 6,
o1 §¢ dP 15 SATad (U SUETSH, TARI B SUETST AT
AT AFCS! BT ORT B | TeH el 3

Self-conscious feelings:

Those emotions that require a sense of self, as well as an
ability in order to reflect on one's actions, are called self-
conscious emotions.

These emotions are a result of whether the expectation in
terms of social norms and rules are met or not.

Examples of self-conscious emotions are embarrassment,
guilt, pride, shame, and humiliation.

Self-conscious emotions occur as a result of the extent to
which an individual is able to meet his/ her own expectations,
the expectations of others, or social norms.

Ques 155. ANS (C) Solution:

faw AfiHdT Bt s B Afad guriarg & W F ff S
SR

Sfaepar STeR ¥ SRR F o B

T AfadhdT B R AN b T 3R BT BT UTe B &
w8 3Wd &, O sreell 6l o gebell 81

3 WIHR P & fob at Fam fonedt 1 foreht onfere=or afaa
(O TefT- et Riegep, HTeT=) GIRT SH1T 7T &

3R 3wl Pl e W ThTd 3R Fo! oll (SRR =) &l
E1egil

The stage of heteronomous morality is also known as moral
realism

Morality is imposed from the outside.

Children regard morality as obeying other people's rules and
laws, which cannot be changed.

They accept that all rules are made by some authority figure
(e.g. parents, teacher, God)

and that breaking the rules will lead to immediate and severe
punishment (immanent justice).

Ques 156. ANS (C) Solution:

BET T fHRIRTGRIT & AT 3G 12 - 19 T gielt 81
ASH! H, IO FTH LRSI, JUUT GRT Hfad Shefl 8, S IRR
H g aral faftre TR uRad=i & forg iR g g -
IRR & &1 faaRor

STAS IR Y41

a1 YRR gRT 1a H gfG SRR He™ & Fde &1 HRul
EERINS

ARl 1 fJem SR faaRor

Rl & R A gl

Iug R H gia

AT Xad PIRIB1S & e § 3fg




foITT 3R SIS HIY BT MBR F&T

hTu[3T T fdTor

Tefhal ¥, ST Afedr YR A S TRISH 3R ToReRI
T AT BRAT IR PR ¢ ¢ ol [PUR dsdB! b IWR A 81
Tt faftrer TR afRadHi & forg eR g0 & -

YRR & a1 &1 faavor

P AR R @@=

IRR H T & T

TG &R | A gfa

U1 SHmE ¥ Uit gfs

gl o Bickraw & g # gfe ok fgal & A A gfe
I SHad &l f[de™

T oSt 3T & 3R W 9f - iR 3R aredt

R o (@) & Lol

The approximate age of puberty among students is 12 - 19

years of age.

In boys, the male hormone testosterone, secreted by the
testes is responsible for the various physical changes taking
place in the body -

Body hair distribution

Effect on the voice

Increased secretions by skin glands often lead to acne
formation

Muscle development and distribution

Increased bone growth

Increased metabolic rate

Increased production of red blood cells

Increased size of penis and scrotum

Production of sperms

In girls, the ovaries start secreting the female sex hormones
viz.,, estrogen and progesterone that are responsible for the
various physical changes taking place in the body of the
adolescent girl -

Body hair distribution

Soft and smooth skin

Increased fat deposition in the body

Slight increase in metabolic rate

A small increase in protein deposition

Increased deposition of calcium in bones and increased bone
growth

Development of breast tissue

Increase in size of all reproductive organs — internal as well as
external

Initiation of menstruation (menarche).

Ques 157. ANS (D) Solution:

AFGATAIE! AR U eI & S AT b S0 Siiad i
FIERIA B BT &1 R B 31 SHSTEH HRell Bl HHGATEIE
AT BT YUY |1 ST 2|

OHJdIaTe! AT A1Hd aER 6 4 Had Tiaed ot 2fd
V 3Wd § 9fcs agR A a1 fad ot 2y F oft Twa B
AHGdTaTe! BRI T § b [l fad &1 agR @t
3fidRe TGS 3R 3TeH-Bd A Fo1 8 B

T faRvan wdd $w91, fardil & UG & g &I AT,
H-TIETHR & T T HAT 3R ST & BT ST
gl

RIS R e g R & Soild, HHadTard] Hifdw

B I & B Yol B 3R ITDT TS B MABIH HRA
H TEE HRA BT TN BT B

Humanistic psychology is a perspective focused on people’s
ability to direct their own lives. Abraham Maslow is
considered to be the founder of Humanistic Psychology.
Humanistic psychologists look at human behavior not only
through the eyes of the observer but through the eyes of the
person doing the behavior.

Humanistic psychologists believe that an individual's
behavior is connected to his inner feelings and self-image.
The key features are free will, freedom to choose one’s
destiny, strive for self-actualization, and achievement of one's
own potential.

Rather than concentrating on dysfunction, humanistic
psychology strives to help people fulfill their potential and
maximize their well-being.

Ques 158. ANS (D) Solution:

B B 3 AHRIS WA B S 1@ B U 54

i 1 Tyl agR- e &1 Afey i ag snarffa
& Ui TEURite 39T SR SR 579 3 oot fefaredf ofik
BP0 & TR T Fa df 37! a1 B Sardf g |

B DI STH- ST & T IR HRAT- Riefep! 1 B I
30 TY & FagR Bl W-FTRMI & HIeH Y WeHTed PReb
I8 S-SRI [AHRIT B & Age Bt A1

anfee sriwn &1 smaieH- e 39 gf )R ArfexH ugH
FR D ¢ off Sl P foI FHRI g |

Strategies for keeping good mental health of students:
Empathetic behavior of the teacher- The teacher should
show acquiring attitude towards the learners and listen to
them when they tell about their concerns and viewpoints.
Motivating students for self-discipline- Teachers should help
students develop self-discipline by encouraging them
through self-monitoring their own behaviours.

Organizing guidance program- Teachers can provide
guidance on issues that are problematic for the children.
Ques 159. ANS (A) Solution:

TRHTA & Rigid & TR fRaRT ¥ fdemg & a=ol &),
"Uga S| YfHeT Yo fder 3t faRIvd & = o |1 S
Bl

T TR W, T U WA BT U1 A § 3R W H U1a1
GEARGERGES

3T 3R Hfr 3 SR SRR 3R Pt TeTw B AR
T PR 59 Yehe BT FHIYM Bl 8, o ST &) HiaT
faeRrd grft

It 3 5 P # oremd ¢ A1 d UgaH Tabe BT fasird X
gl

& faR1eft 7707 SR UgaM SR YH/UNIR § | S AT 3EHR Bt
UM faeRid wRa 8, 3 faeigar &1 707 urd a8, erufa
75 fayaiia faar, RO, Afdwdl, Ay ok TwER &1 SR
8, et U1 = H SRl - SEHR YA - SRAIpId BT T
0T I BRAT B |

According to Erikson’s theory of stages of development in
Adolescence, the “Identity Vs Role confusion” is found as
characteristic of development.




At this stage, children explore their independence and
develop a sense of self.

Feel insecure and confused about themselves and the future.
If an adolescent resolves this crisis, then a sense of fidelity
would develop.

If they are unable to resolve they develop an identity crisis.
The two opposing qualities are ego identity and
confusion/diffusion. Those who develop ego identity yield
the virtue of reliability means it is the basis for reliable
thought, reason, morality, trust, and loyalty, while the
inability to do so — ego confusion — creates a quality of
repudiation.

Ques 160. ANS (C) Solution:

"R G S SR b o= BT & BT Ga&fid Hedl &
3R g9 oy ot od T 1 Srazadhdl e1 €l 1 g S
Y I R IR 9 HA Bt avgar 3, 91y € e fnsht ud
I AT 3Ya & it ot 7S Town a1 S &l 8 B B
g 3|

TE T TS GHAT T TS0 H F TgRIaT HRell 3, I Taeht
3R Yo & gHeH & Tl Rl § off JHT BT YR § 3R
T BT JUTNT Fb 39 5 HRA

STCITIRIT & SR AT 1 aRel gfg T aoil & I g g,
Afep a1G # g & fRmac S 3

34 wileb fSITgH, Toell-gerg, 3R Wi exaraciie &
TA&ON GRT AT ST FHel 71

WA & (Gf) B IUM §- G Bed Hedk iRk AR X AR §
Y3 UriRe Afee enf |

"Fluid intelligence" refers to the ability for abstract and
logical thinking and does not require any previous
knowledge. It is the ability to think and reason abstractly, as
well as solve any new problem or task without any prior
knowledge or experience.

It helps one to examine a novel problem, perceive the
relationships and patterns that underlie the problem and
solve it using logic.

The fluid intelligence of an individual increases rapidly during
childhood, but declines in later adulthood.

It can be measured by tests of puzzle-solving, and spatial
visualization. and block designs.

The measures of fluid intelligence(Gf) are- The Cattell Culture
Fair IQ tests and The Raven'’s Progressive Matrices.

Ques 161. ANS (C) Solution:

TRIf&repT GRT ST H TG-%fo0 T BT YGUNT U1 TRIND
Tfafafay &1 Iudi, I gfs | Sifrean il o1 uanT
FRAH & 0 PR e & | TRI-9 AR a0 Tafa it gRy
TRaT I A Fad BET A IATE SN T § IR U1 U IH
P! A THG b 30 Ffd Jed J AT 7@+ & Jgrad ot gidn
gl

The teacher is using the support of audio-visual material and
physical activities in teaching to make maximum use of the
senses in increasing knowledge. Knowledge learned through
audio-visual materials and activities not only arouses
enthusiasm among the students but also helps in retaining
the learned knowledge in their memory for a long time.
Ques 162. ANS (A) Solution:

I8 ATt 9% BNt § S IRORTTd g7 g wrnd € i,
R, FH Tl AR ¢ Siiad § Iuant g g1 SREaR
T STe) IEht 1 ISR B

External materials are those which are different from
traditional teaching aids, local, less expensive and useful in
daily life. Newspaper is an example of an external material.
Ques 163. ANS (C) Solution:

YRA WHR P IR IR ST Ufohan & Arey I SHf
DI R & fog omg I &, wpelt aiemT 9y 2004, feaweR o
& DI A ot TUT SHH T R 39 G 9 2010 H AR
o 71| T e M TR W BEI B ICT PRI §
e S qUT S5 Hrex SeTRa Sifem ufsear & wftferd
P & I I L= o] T A

Government of India uses ICT to teach students through
computer based learning process. The school scheme was
started in the year 2004, December and it was amended and
implemented again in the year 2010. This scheme was
launched with the objective of enabling students in ICT skills
at the secondary level and involving them in computer based
learning process.

Ques 164. ANS (C) Solution:

P Ueg] B U Wea! H I, IR 35T BT IETEI0
81 VAT 32T & Siafd faemff iy ok wRur f5d 7 qe,
fRyrelt, wreail, Ry onfe &1 Wil a1 ¥ I8 I &
T ARRT LT §1 5 U6 T IR 914 I 3 81
Stating the central concepts in your own words is an example
of an application objective. Under the application objective,
the student understands and uses the remembered facts,
principles, events, rules etc. This is the third objective of the
field of knowledge. Before this comes the objective of
knowledge and understanding.

Ques 165. ANS (B) Solution:

HIITHD &7 & Adifd 3 IL3Y 3M1d & ST ey ra,
BTN, Felt, T, Hafcrd, S onfe & gr ¥1 TS
& BT FNBHROT T 1964 B HUYATH, SIH TUT T3 = o o)
et & &1 g HIT & arifepd fpar man 8- (1) 3w (2)
Ufafehdn (3) STHH (4) WS (5) WIHTEIHRUT|

Under the emotional sphere come those objectives which are
related to feelings, attitudes, values, emotions, attitudes,
interests etc. The emotional sphere was classified by
Krathwal, Bloom and Masiya in 1964. The emotional sphere
has been classified into the following parts — (1) Urgence (2)
Reaction (3) Appraisal (4) Organization (5) Naturalization.
Ques 166. ANS (B) Solution:

T IeR 98 WA B off Yoo IR H SHHRY 3@ B 3R T8
Had TP T1 31 JhUS & forg ar el g1 18 off 1t g
UEd ad Wi 7 orrelt ¥ 1 T W Y Terdt e o wgd
gidl § b 3U! 31aftl 9gd B BI &, U FobUs I i |
I8 U T W o1 & S Udeb a1 b1 uReal I 78l
AT 8| HRR 3Y 07 B Ja! TR a1 FIf IR 5 &,
FHifeh T HIGAE Tgl I U S Uidpid & U H g1 Gufed
B ST B

The sensory register is the memory that holds information
about everything and it comes up for only a second or two.
Any new information first comes to sensory memory. The
cumulative capacity of sensory memory is very high but its




duration is very short, less than a second. It is a memory
system that captures every sensation with precision. Often
this system is called sensory memory or sensory register,
because all the sensations are stored here in the form of a
replica of the stimulus.

Ques 167. ANS (D) Solution:

% e T § g I &) 7 THR I Waned s
Tobdl B- (i) I PIC B T U Bl UG B (i) S
D! Wiia & e Uicfed B (i) U6 & fawdt 1 o1 a1
IRAIS FH & 1Y FHIR B [T Tieied Hib |

A teacher can encourage thinking skills in children in the
following ways: (i) by recognizing the conditional nature of
thinking skills (i) by encouraging the student to think for
himself (iii) by transferring the subject knowledge of the
lesson with external factual knowledge By encouraging.
Ques 168. ANS (A) Solution:

3faciich-] & HILH ¥ ! 75 SHBR! & |fd & forg
UfehaT ST §RT IUART BT o Gabell 8- (i) 7 B A7 fobaradl
AT TIHR 1A HAT| (i) ST T awg 3 DI TF & =4
fewm o Jug S

The following process can be used by the students to

memorize the information learned through observation - (i)
To practice by making a series of actions in the mind. (ii) To
store the observed objects in the mind in visual form.

Ques 169. ANS (C) Solution:

T I P 3 AP, T AR IUT Ueleh! Gl ! THS Tbd &
U qY BT AT H b ATl & Ser I 81 98 3T
e BT Td B 1 6 | I8 Wel &1 9 FRIG quT difdhe
i A A g |

By the age of ten, children can understand both substance
and symbols. At the age of ten, the child starts speaking
rapidly. He starts doing his daily work himself. He starts
observing properly and thinking logically.

Ques 170. ANS (C) Solution:

- SHTHS [T 1 Udeiie Riid argiics! 3
T B 1 aTeicia! & SR SRS bR R Irifors
PR (URAR, FHI, faarey, fim dedl uRawn g w1
U USdl 7| 3fert 39 Rigd &1 amifore Txpfa Rigra &
T oft ST ST 1 39 R & SR SRS fah
3R Jafae FrHTfors IR & ATe 3 giaT § | Tsvlicp!
& STIR SIS BT [AHN TANS & GRT ST AT AT
[ERIEEANKISER G CE G N

The historical theory of social-cognitive development is
related to Vygotsky. According to Vygotsky, cognitive
development is influenced by social factors (family, society,
school, friend environment) and language. Therefore this
theory is also known as social culture theory. According to
this theory, cognitive development occurs through
'interpersonal social situation'. According to Vygotsky, child
development occurs through society, that is, through social
interaction, the child acquires knowledge.

Ques 171. ANS (A) Solution:

9 Riférent wem & o Rranfiat & wry wgg nfafafiat &
fafer forendf @1 =i it &, 7 I8 TwIfed e &t
HAUTT & STIR BRI Hcll ¢ | FrTfed e o Srast fRien
1 AT TS T B 3P IRIND, S5, AR,

HraTeTeh 1 3 RISl R e &l faer 3= ife o fRiefm ot
FAHT U BT 8 | FETah Rren & fraftrd et # eom
AT FHG e Sl & Ty o s o) e e S 1
When a teacher includes a visually impaired student in group
activities with other learners in the class, then she works
according to the principle of inclusive education. The goal of
inclusive education is to provide every child with access to a
high quality education, regardless of their physical,
intellectual, social, emotional or other conditions. Inclusive
education facilitates the education of children with
disabilities along with their normal peers in regular schools.
Ques 172. ANS (C) Solution:

& SRS AT YI&RT B IT-1-Uch (UTUTTy-Uch) Thif-1T 4
BT IUANT e gRT el auf o forg gy R aern & st
1 faqal SR HHGNRE! B Uga B & g foam o gaval
T | SUST YANT UMY foaT ST a1fRT T1fch a8 ST o Feb fos
o 3 o7 UG fora § iR ot d 1 ¥ Wahdl § i S
Il 3R & D1 UG PR 3R B! UM IT o b |
HUTATH-UF TR (4) I d6 & gl & FEH & for TR
foar T gl

The Phonological Awareness Literacy Screening—Prek (PALS-
Prek) screening instrument can be used by teachers to
identify the strengths and weaknesses of children in their
early childhood education plan for the school year. It should
be used so that it can be known what the child has learned
and what they can learn further and by identifying their
abilities and potential, further strategies can be made. PALS-
Prek is designed for the instruction of children up to four (4)
years of age.

Ques 173. ANS (C) Solution:

Y ERHIV HaeR WiHH &, THTARN Rian & Rrgidl &
e 7 we! T3l 7 | FHraRh e a8 " § b U s
g o T BT © Al I ITST &, SMaRHT, B,
I TG & SR ke & forg URa foasan Sme | 3t R
TrTasft Rigm g8 off ot & o ot st # qafaae i g
2 R TR T B U BT PR B 1 SR TS =3 1
HRE & AR I g A1

While misleading approach behavior is acceptable, it is not
right in the context of the principles of inclusive education.
Inclusive education believes that every child is capable of
learning if he is motivated to learn according to his ability,
need, interest, aptitude, etc. Similarly, inclusive education
also believes that all children have individual differences and
every child has the right to learn. Therefore every child
should have opportunities to learn.

Ques 174. ANS (C) Solution:

T = iRplaies ¥U Q T¢ Yebed BId & SHHT Hadd & b
¥ W, fagmay, difgan, e ok wem ol IRefae SR 9
TR 31 I = SOt IR Y el X § SR e o
B arel Trd Tfafafl @ ergya o BRd 1 ST 9 eroeh
TXpfa, e, g onfe & Ufd U FAfa yrom &1 a8
78 afad T H B3 el B B

Knowledgeable children are culturally determined. This

means that children learn from cultural institutions such as
home, school, media, sports, and arts. Knowledgeable
children keep their senses open and gain experience from all




the activities happening in the society. That is why they form
a certain perception about their culture, civilization, society
etc. Changing which is a difficult task.

Ques 175. ANS (A) Solution:

faenfidt & e Tieron H faaa1 Hrd T SHATID B
JAD! SURTA BT & [T MU SHLATYD Bl Y& BT
fmfor Hxd W g7 e T AR o faemelf odteor &
faafera =1 g1 TUT TRI&01 ST Al & Sy 81| URI&0 I
eI o) divere 3 e 8 B 3 ot el e &
3T 3ATUDT ST B A & T TRI&0T BT I£T UHIAd el
gl

While analyzing the academic tests of the students, the
teacher should keep in mind their attendance. While
preparing the test, the teacher should keep in mind that the
students should not get distracted by the test and the test
should be as per their ability. If the test is not according to
the students' ability, then the students distance themselves
from the test, which affects the purpose of the test.

Ques 176. ANS (C) Solution:

fagm fawalt & Taq R TS Hedidh & SR HH-I-HH
FS TS e BT YR GATTRIT fohardarg &l T
EELEIRY

According to continuous and comprehensive assessment in
science subjects, at least some formative assessment should
be based on the use of laboratory activities.

Ques 177. ANS (A) Solution:

Riendf & g &1 arod 8- 3o Sfftv W HileR
B 1 IuD! A | el gR1 W-fafge 3% e
ST IR foaR #3 & Tt TR U HRdl g1 39 UhR
& fafame & faemelf Rieror & Se=al qut g & fFaw @
ST B ST & TUT I} &1 UTGT & forg YamRd 81 9 gl
39 ufhar & 9 I2=T & FuRw, 3ot unfa &1 S qur aRomaf
R AR Bt Ufsbar § fierd €1d g1

‘Self-regulation’ of the learner means his ability to monitor

his own learning. Self-regulation by learners provides them
with ample opportunities to reflect on their learning. In this
type of regulation, students become aware of the objectives
of teaching and the rules of execution and make efforts to
achieve the objectives. In this process they are involved in
the process of setting objectives, checking their progress and
reconsidering the results.

Ques 178. ANS (C) Solution:

Tl 3R & ot RIS o 1T Tpedt YuTaRierdl &1 b
PR BT TG T AP &, WikSTaH! 01| Hifeagast 7oK ot
a8 T ¢ o ST s &1 WURY, UaRH, arfierur iR 34k
T & ST ST e fohaT STt § 39T fafrd &t ori-
Arfaent, Rre, greTfore fawm, wfaw= onfe & v faar
S B

The most common way to estimate school effectiveness for

children is to statistically control for between-school
differences. Statistics is that branch of mathematics in which
collection, display, classification of data and assessment of its
properties are studied. It is used in various fields like
humanities, education, social sciences, psychology etc.

Ques 179. ANS (A) Solution:

Tt Tepfae Bl 1 waf & fauvifia fear St 8- (1)
FHRIHD TP (2) THRIHD HEHid THRIHD DIl
faeera 7 e, UemTeATa®, TgHH, Il & did ggan],
g TaT 3R T A Rid Rl § Safeh ThRIAS TWpid
% o9 S, 3, BA-HUC ol G &I [IHRId Fal g

Basic culture is divided into two forms - (1) Positive culture

(2) Negative culture. Positive culture develops cooperation,
goodwill and coordination among teachers, principal,
colleagues, children in the school, whereas negative culture
develops jealousy, hatred among them. Develops bad
qualities like deceit and deceit.

Ques 180. ANS (B) Solution:

UTYTHE THTSNHRUT, 30 g & Ui a1 YRS I o
1] & FATSNBROT ) Tefifd Har 31 Ry &1 s
TTGNHRUT 39b URIR § & Y= 81 o1l 5 | I8 Ay 30
URAR Y g HIW, TAER, VPR 3Tfe TgU PR FHTISID TR
CECIR]

Primary socialization refers to the socialization of an infant in
the primary or early years of his life. The primary socialization
of the child starts from his family itself. He first becomes a
social being by adopting language, behaviour, values etc.
from his family.

Ques 181. ANS (A) Solution:

3R A Y U GG Xsa Bl YRUINT Hd §T I 1=m
! aTd YT gRT RO G5’ BT ATl

Aristotle was the first to define the word community and
called it 'a group formed by men with shared values'.

Ques 182. ANS (D) Solution:

1 Fafor 9T I ok v gt &1 fdmd gd 9 &1
St e B 1 39 Rigid ® IRt Temare] feRyRT gr1
I I 8| TETAIG & SHTAR TS et s o & fow
M BT 701 AT ¢ | TEETE! URUEH & Sid O T DRI
Wie T gYaT afesh 98 3(U= 1Y Y4 3FVd ATl ¢ | a8 fbdt
IR F TR I Td gd I & SHTYR W I BT AT
FAT 5

‘Knowledge construction is the unique combination of new
knowledge and a learner's personal prior knowledge.’ This
principle is advocated by the constructivist school of
thought. According to constructivism, every learner creates
knowledge for himself. Under the constructivist perspective,
the student is not a blank slate but he brings with him
previous experiences. He creates knowledge on the basis of
cultural elements and prior knowledge of a situation.

Ques 183. ANS (B) Solution:

I SR TN UG RId B3 & foharhard &b UhR &
Ukt I BId § | IfhaTeTe 1 MRd® a1 g% fopansii &
e ST gid §

The activities of speaking and demonstrating experiments
are a type of procedural knowledge. Procedural knowledge is
used for verbal and manual activities.

Ques 184. ANS (D) Solution:

IE UTSUshH o1l fR1eieh Tt Riard § Y UrsushH bgaral g
foreTera 7 g1 IR BRI 2 &1 U1 99 $© R &1 §Hd T8
2| ST P vy &7 ) SIFgRIBR UISTHH A1 ursaad §
Tffera =8t fomam a1 81 SR (Eisher) R 59 YR UTaa=dt




1 fean T B | uTeTei & Y- (1) Wy afdfd uredet (2)
Sff-fed Ureaadi (3) [ Uredadt

The curriculum which teachers do not teach is called void
curriculum. It is not possible to give all the information or
teach everything in school itself. Therefore, some subject
areas are deliberately not included in the curriculum or
curriculum. It has been named zero curriculum by Eisher.
Types of curriculum — (1) Explicitly stated curriculum (2)
Implicit curriculum (3) Null curriculum

Ques 185. ANS (C) Solution:

TS (National Policy On Education-1986) é?ﬁﬂ;@%w%'- *
et fRien o ugd SR fenaat § wraufa=rd Frde
AT w1 > Tl & o I R SR ST HRAT
+ g e 1 Ticare | * T Qe TR BT AR HRAT| *
e & dnfres T ety T &1 o Hx + fRrem
BT ITHRIHRUT HIAT 3G |

NPE (National Policy On Education-1986) has the following
objectives - * To ensure universal access to education and
100% enrollment in schools. * To provide equal educational
opportunities for all. * Encouragement to adult education. *
To implement the general educational structure. * Using
scientific and technological developments in education *
Commercializing education etc.

Ques 186. ANS (C) Solution:

THER & W ¥ W fien &1 FRivaie We1 51 98
TRief & 1 @ shanies Riam &t it foremerdt Rian &t <itar o
et St & SIR 7 srtuae gt @t Wit e s Eu d
Tarferd gich 8, FRiuafves Rien sgamh 71 59 Rien w1327,
ureTeat 3R e fafrat d o R St € wReg shoenfies
g 3 Wifd FOR 81 g1 B

‘Learning through correspondence’ is a non-formal method
of education. That education which is neither limited to
school education like formal education nor is conducted
casually like informal education, is called non-formal
education. The objective, curriculum and teaching methods
of this education are often fixed but are not as rigid as formal
education.

Ques 187. ANS (B) Solution:

I MU TR & rTfoies fag &1 Fat § ot et iR
faenfat @t aTaeiia & dienfed B & iy Jed 3o fafy,
3y, WR SR =af 81 ebdt § Fifes syl W aneia
T TIED BIcil § aUT Il 1 W SO I & 701 &
AT IUAH BRI g |

The best method to encourage student talk on gender roles
in a social science classroom at the upper primary level may
be a guided discussion on experiences because discussion
based on experiences is constructive and provides
opportunities for children to construct their own knowledge.
Provides.

Ques 188. ANS (C) Solution:

Tpdife JRi1sf & Ufd faenial # SwefRiar o1 s & forg
i IJur bl S Febd §- n eaxf drivuTeh vd Rl
R A AT BT w SIPRE® ST DI YfAHT ol ST el

el

The following measures can be taken to prevent negative
attitude among students towards democratic institutions: -
Emphasis should be given on ideal functioning and
principles. The role of aware public should be pointed out.
Ques 189. ANS (C) Solution:

NCF (National Curriculum Frame-Work 2005)3=IdX qreafies
TR R fawedl &1 9gamd 3R qRAdl & Hed W SR a1 6,
Al BT T Treaaat uRish & 7@ SR IRy w0 3 grfior
&3 & Sl H SR I WA A B Tt Ut yafrdt i
BalcTed PRl 5

The NCF (National Curriculum Frame-Work 2005) emphasizes
the importance of multiplicity and fluidity of choices at the
senior secondary level, countering deeply ingrained
tendencies to keep children in fixed curricular streams and
limit opportunities, especially for children in rural areas.
Discourages.

Ques 190. ANS (C) Solution:

AR g & forg amfior Seme!  He=t & RITAT B3 7 587
P Ui e & sgrar & & e s mar gl

A major step to promote adult education has been taken by
establishing cadres in rural areas for continuous education.
Ques 191. ANS (D) Solution:

THd o Ul AT T BT 31 THRIAD VBV W
TER® Hiier! & 99 8 9hdl |

Parents' more positive attitudes toward school may be
enriched by school community involvement.

Ques 192. ANS (A) Solution:

T fR1&1h = B Bl I7eb! W-TH [dbd B & forg ot
TAfIRY TR e § S0 GRa ST, HIGHTSH B Uga™ ST
TUT 3 G HA I A B WA FR el B Ryamw
T BT Yaie Tafafe o |

Activities a teacher has designed for students to develop
their self-understanding may include activities like making
friends, identifying and expressing emotions, as well as time
management activities.

Ques 193. ANS (A) Solution:

TS BT Aqad ad BT ¢ | O SHTHUMH A fhd! THT TR
NY HRAT TRl & A I G Y Grad Ufoesif o1 9=
P & TUT I U 3HTbs! a1 9 & 3MYR TR 3T
URET BT T T B

Data means facts. When the researcher wants to research a
problem, he selects samples related to that problem and
tests his hypothesis on the basis of the data or facts obtained
from it.

Ques 194. ANS (B) Solution:

SAYRUNSH & URI&0 BT T HITerdh ST, THTID A R
T 3ferd 3R arefguf o anamg &1 1. ST, 3l & AR,
& B e &t o B fRiae &va g a1 fopanstt &1 e
eI Bt AR & T ST B 1 & 31T BTl bl
BT Td srazaebarali & qfd gt 21

A fundamental exercise of testing concepts is an appropriate
and meaningful given exercise on social science. Pro. G.A.
According to Occam, “Given work involves thinking in the
process of teaching and planning activities in preparation for
study.” Given practice fulfills the interests and needs of the
students.




Ques 195. ANS (C) Solution:

D&l 8 B 3T P UISIYEID H YYTIHR febarepeltd ol
A B BT HB I o (Al # foramy &1 fafdear &1
SAYRUN B! fAHRIT BRATI 37 UHR & foparepanal # fagmdf
30 3BT & Td T T STUNT Bl gU AIe ferg o1 uarg
HI o 3 AR, srayRomsHl, Jom=iaarn sfg &1
faerar g

The main objective of including question based activity in the
history textbook of class 8 is to develop the concept of
diversity of thoughts among the students. In this type of
activities, students will try to write notes using their previous
knowledge of history, which will develop their ideas,
concepts, creativity etc.

Ques 196. ANS (B) Solution:
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When a teacher shows historical monuments to students he
is encouraging them to learn from the primary source. Only
the original things of the past are included under primary
sources. For example — buildings or ruins, monuments, ruins,
coins etc.

Ques 197. ANS (A) Solution:
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Listening and speaking are two skills that are involved in the
activity of surveying.

Ques 198. ANS (B) Solution:
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Language is the means by which humans express their
thoughts by speaking, listening and writing and language is
expressed in written form through grammar and words.
Ques 199. ANS (B) Solution:
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Pre-professional skills development activities are designed to
prepare students for the world of work. So that professional
skills can be developed in the students. Also, one of the
objectives of pre-vocational skill development activities is to
make students self-reliant.

Ques 200. ANS (C) Solution:
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When the mother drops the child at school, the child starts
crying. This behavior is related to separation anxiety.
Separation anxiety occurs when a person is unwillingly
separated from an object or person. In such a situation, he is

unable to direct his emotions and emotional instability
occurs in him.




